



Permanence of a delayed *SIR* epidemic model with density dependent birth rate

Mei Song^{a,1}, Wanbiao Ma^{a,*}, Yasuhiro Takeuchi^b

^a*Department of Mathematics and Mechanics, School of Applied Science, University of Science and Technology Beijing, Beijing 100083, China*

^b*Department of Systems Engineering, Faculty of Engineering, Shizuoka University, Hamamatsu 432-8561, Japan*

Received 6 August 2004; received in revised form 20 September 2005

Abstract

In this paper, we consider the permanence of a modified delayed *SIR* epidemic model with density dependent birth rate which is proposed in [M. Song, W. Ma, Asymptotic properties of a revised *SIR* epidemic model with density dependent birth rate and time delay, *Dynamic of Continuous, Discrete and Impulsive Systems*, 13 (2006) 199–208]. It is shown that global dynamic property of the modified delayed *SIR* epidemic model is very similar as that of the model in [W. Ma, Y. Takeuchi, T. Hara, E. Beretta, Permanence of an *SIR* epidemic model with distributed time delays, *Tohoku Math. J.* 54 (2002) 581–591; W. Ma, M. Song, Y. Takeuchi, Global stability of an *SIR* epidemic model with time delay, *Appl. Math. Lett.* 17 (2004) 1141–1145].

© 2006 Published by Elsevier B.V.

MSC: 34K25; 92B05

Keywords: *SIR* epidemic model; Time delay; Permanence

1. Introduction

Epidemic models with or without time delay are studied by many authors (see, for example, for the model with time delay [1,2,11–13,15], for one without time delay [7,9,10,14]). They consider the stability or permanence of the models by applying the theory on delay differential equations [3–6,8]. In this paper, we consider the permanence of the following modified delayed *SIR* epidemic model with density dependent birth rate which is proposed in [13],

$$\begin{cases} \dot{S}(t) = -\beta S(t)I(t-h) - \mu_1 S(t) + b \left(1 - \beta_1 \frac{N(t)}{1+N(t)}\right), \\ \dot{I}(t) = \beta S(t)I(t-h) - \mu_2 I(t) - \lambda I(t), \\ \dot{R}(t) = \lambda I(t) - \mu_3 R(t), \end{cases} \quad (1.1)$$

where $S(t) + I(t) + R(t) \equiv N(t)$ denotes the number of a population at time t ; $S(t)$, $I(t)$ and $R(t)$ denote the numbers of susceptible members to the disease, of infective members and of members who have been removed from the possibility

* Corresponding author.

E-mail address: wanbiao_ma@sas.ustb.edu.cn (W. Ma).

¹ Present address: Department of Mathematics, Yantai Normal University, Yantai 264025, China.

of infection through full immunity, respectively. It is assumed that all newborns are susceptible. The positive constants μ_1, μ_2 and μ_3 represent the death rates of susceptibles, infectives and recovered, respectively. It is natural biologically to assume that $\mu_1 \leq \min\{\mu_2, \mu_3\}$. The positive constants b and λ represent the birth rate of the population and the recovery rate of infectives, respectively. The constant β_1 ($0 \leq \beta_1 < 1$) reflects the relation between the birth rate and the density of population. The nonnegative constant h is the time delay.

The initial condition of (1.1) is given as

$$S(\theta) = \varphi_1(\theta), \quad I(\theta) = \varphi_2(\theta), \quad R(\theta) = \varphi_3(\theta) \quad (-h \leq \theta \leq 0), \tag{1.2}$$

where $\varphi = (\varphi_1, \varphi_2, \varphi_3)^T \in C$, such that $\varphi_i(\theta) \geq 0$ ($-h \leq \theta \leq 0, i = 1, 2, 3$). C denotes the Banach space $C([-h, 0], \mathcal{R}^3)$ of continuous functions mapping the interval $[-h, 0]$ into \mathcal{R}^3 . By a biological meaning, we further assume that $\varphi_i(0) > 0$ for $i = 1, 2, 3$. It is easily to show that the solution $(S(t), I(t), R(t))$ of (1.1) with the initial condition (1.2) exists for all $t \geq 0$ and is unique and positive for all $t \geq 0$.

With some simple computation, we see that (1.1) always has a disease free equilibrium (i.e., boundary equilibrium) $E_0 = (S_0, 0, 0)$, where

$$S_0 = \frac{1}{2\mu_1} \left[b(1 - \beta_1) - \mu_1 + \sqrt{[b(1 - \beta_1) - \mu_1]^2 + 4\mu_1 b} \right].$$

Furthermore, if

$$S_0 > S^* \equiv \frac{\mu_2 + \lambda}{\beta}, \tag{1.3}$$

then (1.1) also has an endemic equilibrium (i.e., interior equilibrium) $E_+ = (S^*, I^*, R^*)$, where

$$I^* = -P + \frac{\sqrt{P^2 - 4\beta S^* W Q}}{2\beta S^* W}, \quad R^* = \frac{\lambda I^*}{\mu_3},$$

$$W = 1 + \frac{\lambda}{\mu_3} > 0,$$

$$P = [\mu_1 S^* - b(1 - \beta_1)]W + \beta S^*(1 + S^*),$$

$$Q = [\mu_1 S^* - b(1 - \beta_1)](1 + S^*) - b\beta_1 < 0.$$

A detailed analysis on the local asymptotic stability of E_0 and E_+ , and the global asymptotic stability of E_0 are given in [13]. The purpose of the paper is to consider the permanence of (1.1) with the initial condition (1.2).

2. Permanence of (1.1)

In this section, we always assume that $S_0 > S^*$ which ensures the existence of the endemic equilibrium E_+ of (1.1). The following lemma is proved in [13].

Lemma 2.1. *For any solution $(S(t), I(t), R(t))$ of (1.1) with (1.2), we have that*

$$\limsup_{t \rightarrow +\infty} N(t) \leq S_0. \tag{2.1}$$

We also have the following

Lemma 2.2. *For any solution $(S(t), I(t), R(t))$ of (1.1) with (1.2), it has that*

$$\liminf_{t \rightarrow +\infty} S(t) \geq \frac{b(1 - \beta_1)}{\beta S_0 + \mu_1} \equiv v_1. \tag{2.2}$$

Proof. For any sufficiently small $\varepsilon > 0$, from Lemma 2.1, there exists a large $t_1 > 0$ such that for $t \geq t_1$, $I(t) \leq S_0 + \varepsilon$. Hence, for $t \geq t_1 + h$,

$$\begin{aligned} \dot{S}(t) &\geq -\beta S(t)(S_0 + \varepsilon) - \mu_1 S(t) + b(1 - \beta_1) \\ &= -[\beta(S_0 + \varepsilon) + \mu_1]S(t) + b(1 - \beta_1), \end{aligned}$$

which clearly implies that

$$\liminf_{t \rightarrow +\infty} S(t) \geq \frac{b(1 - \beta_1)}{\beta(S_0 + \varepsilon) + \mu_1} = v_1.$$

Note that ε may be arbitrarily small. It has that (2.2) holds. This completes the proof of Lemma 2.2. \square

The following Lemma 2.3 plays an important role for the permanence of (1.1).

Lemma 2.3. For any solution $(S(t), I(t), R(t))$ of (1.1) with (1.2), it has that

$$\liminf_{t \rightarrow +\infty} I(t) \geq \rho I^* e^{-(\mu_2 + \lambda)(d+h)} \equiv v_2,$$

where $\rho > 0$ and $d > 0$ satisfy

$$q \equiv \frac{1}{\rho \beta I^* + \mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0} \right) > S^*$$

and

$$S^d \equiv q(1 - e^{-(\rho \beta I^* + \mu_1)d}) > S^*,$$

respectively. $\varepsilon_0 > 0$ satisfies

$$\frac{1}{\mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0} \right) > S^*. \tag{2.3}$$

Proof. First, note that since S_0 satisfies

$$S_0 = \frac{1}{\mu_1} \left(b - \frac{b\beta_1 S_0}{1 + S_0} \right) > S^*,$$

it is possible to choose $\varepsilon_0 > 0$ satisfying (2.3). Hence, there exist $\rho > 0$ and $d > 0$ such that $q > S^*$ and $S^d > S^*$ hold.

Let us consider any solution $(S(t), I(t), R(t))$ of (1.1) with (1.2). For $t \geq 0$, we define a differentiable function $V(t)$ as follows:

$$V(t) = I(t) + \beta S^* \int_{t-h}^t I(u) du. \tag{2.4}$$

Then, the derivative of $V(t)$ along the solution of (1.1) with (1.2) satisfies

$$\begin{aligned} \dot{V}(t) &= \dot{I}(t) + \beta S^* I(t) - \beta S^* I(t-h) \\ &= \beta(S(t) - S^*)I(t-h) + [\beta S^* - (\mu_2 + \lambda)]I(t) \\ &= \beta(S(t) - S^*)I(t-h). \end{aligned} \tag{2.5}$$

From Lemma 2.1, there is some $t_0 > 0$ such that for any $t \geq t_0$, it has that

$$N(t) \leq S_0 + \varepsilon_0.$$

Claim. It is impossible that for all large t , it has that

$$I(t) \leq \rho I^*.$$

In fact, if the claim is not true, there exists $t^* \geq t_0$ such that for any $t \geq t^*$, it has that

$$I(t) \leq \rho I^*.$$

Hence, it follows from the first equation of (1.1) that, for any $t \geq t^* + h$,

$$\begin{aligned} \dot{S}(t) &= -\beta S(t)I(t-h) - \mu_1 S(t) + b(1 - \beta_1) + \frac{b\beta_1}{1 + N(t)} \\ &\geq -(\beta \rho I^* + \mu_1)S(t) + b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0}. \end{aligned}$$

Thus, it has that, for any $t \geq t^* + h + d$,

$$\begin{aligned} S(t) &\geq S(t^* + h)e^{-(\beta \rho I^* + \mu_1)(t-t^*-h)} + \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0} \right) \int_{t^*+h}^t e^{-(\beta \rho I^* + \mu_1)(t-\theta)} d\theta \\ &> \frac{1}{\beta \rho I^* + \mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0} \right) (1 - e^{-(\beta \rho I^* + \mu_1)(t-t^*-h)}) \\ &\geq \frac{1}{\beta \rho I^* + \mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0} \right) (1 - e^{-(\beta \rho I^* + \mu_1)d}) \\ &= q(1 - e^{-(\beta \rho I^* + \mu_1)d}) \\ &= S^A > S^*. \end{aligned} \tag{2.6}$$

Therefore, from (2.5) and (2.6), we have that, for any $t \geq t^* + d + h$,

$$\begin{aligned} \dot{V}(t) &= \beta(S(t) - S^*)I(t-h) \\ &> \beta(S^A - S^*)I(t-h). \end{aligned}$$

Set

$$\underline{i} = \min_{\theta \in [-h, 0]} I(t^* + d + 2h + \theta) > 0.$$

Now, we show that $I(t) \geq \underline{i}$ for all $t \geq t^* + d + h$.

In fact, if there is a $T \geq 0$ such that $I(t) \geq \underline{i}$ for $t^* + d + h \leq t \leq t^* + d + 2h + T$, $I(t^* + d + 2h + T) = \underline{i}$ and $\dot{I}(t^* + d + 2h + T) \leq 0$, it has from the second equation of (1.1) and (2.6) that, for $t = t^* + d + 2h + T$,

$$\begin{aligned} \dot{I}(t) &\geq [\beta S(t) - (\mu_2 + \lambda)]\underline{i} \\ &> \beta[S^A - S^*]\underline{i} \\ &> 0. \end{aligned}$$

This is a contradiction to $\dot{I}(t^* + d + 2h + T) \leq 0$. Thus, $I(t) \geq \underline{i}$ for all $t \geq t^* + d + h$.

Therefore, for all $t \geq t^* + d + h$,

$$\dot{V}(t) > \beta(S^A - S^*)\underline{i},$$

which implies that $V(t) \rightarrow +\infty$ as $t \rightarrow +\infty$. On the other hand, from Lemma 2.1 and (2.4), there exists a sufficiently large $\bar{T} > 0$ such that, for $t \geq \bar{T}$,

$$V(t) \leq S_0 + 1 + \beta S^* h(1 + S_0).$$

This is a contradiction to $V(t) \rightarrow +\infty$ as $t \rightarrow +\infty$. Hence, the claim is proved.

In the rest, we are left to consider two cases.

- (i) $I(t) \geq \rho I^*$ for all large t .
- (ii) $I(t)$ oscillates about ρI^* for all large t .

We show that $I(t) \geq \rho I^* e^{-(\mu_2 + \lambda)(d+h)} = v_2$ for all large t . Clearly, we only need to consider the case (ii). Let t_1 and t_2 be sufficiently large such that $t^* < t_1 < t_2$,

$$I(t_1) = I(t_2) = \rho I^*,$$

$$I(t) < \rho I^* \quad (t_1 < t < t_2).$$

If $t_2 - t_1 \leq d + h$, from the second equation of (1.1), we have that

$$\dot{I}(t) > -(\mu_2 + \lambda)I(t),$$

which implies that, for $t \in (t_1, t_2)$,

$$I(t) > I(t_1)e^{-(\mu_2 + \lambda)(t-t_1)}.$$

It is obvious that, for $t_1 < t < t_2$,

$$I(t) > \rho I^* e^{-(\mu_2 + \lambda)(d+h)} = v_2.$$

If $t_2 - t_1 > d + h$, we can easily obtain that $I(t) \geq v_2$ for $t \in [t_1, t_1 + d + h]$. Then, proceeding exactly as the proof for the above claim, we can show that $I(t) \geq v_2$ for $t_1 + d + h \leq t \leq t_2$.

In fact, if not, there exists a $T^* \geq 0$ such that $I(t) \geq v_2$ for $t_1 \leq t \leq t_1 + d + h + T^* \leq t_2$, $I(t_1 + d + h + T^*) = v_2$ and $\dot{I}(t_1 + d + h + T^*) \leq 0$. On the other hand, it has that, for $t_1 \leq t \leq t_1 + d + h + T^* \leq t_2$,

$$I(t) \leq \rho I^*.$$

Then, it has from the first equation of (1.1) that, for $t_1 + h \leq t \leq t_1 + d + h + T^* \leq t_2$,

$$\begin{aligned} \dot{S}(t) &= -\beta S(t)I(t-h) - \mu_1 S(t) + b(1 - \beta_1) + \frac{b\beta_1}{1 + N(t)} \\ &\geq -(\beta\rho I^* + \mu_1)S(t) + b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0}, \end{aligned}$$

which implies that, for $t_1 + d + h \leq t \leq t_1 + d + h + T^* \leq t_2$,

$$\begin{aligned} S(t) &\geq S(t_1 + h)e^{-(\beta\rho I^* + \mu_1)(t-t_1-h)} + \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0}\right) \int_{t_1+h}^t e^{-(\beta\rho I^* + \mu_1)(t-\theta)} d\theta \\ &> \frac{1}{\beta\rho I^* + \mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0}\right) (1 - e^{-(\beta\rho I^* + \mu_1)(t-t_1-h)}) \\ &\geq \frac{1}{\beta\rho I^* + \mu_1} \left(b(1 - \beta_1) + \frac{b\beta_1}{1 + S_0 + \varepsilon_0}\right) (1 - e^{-(\beta\rho I^* + \mu_1)d}) \\ &= q(1 - e^{-(\beta\rho I^* + \mu_1)d}) \\ &= S^A > S^*. \end{aligned} \tag{2.7}$$

Thus, it has from the second equation of (1.1) and (2.7) that, for $t = t_1 + d + h + T^*$,

$$\begin{aligned} \dot{I}(t) &= \beta S(t)I(t-h) - \mu_2 I(t) - \lambda I(t) \\ &\geq [\beta S(t) - (\mu_2 + \lambda)]v_2 \\ &> \beta[S^d - S^*]v_2 \\ &> 0. \end{aligned}$$

This is a contradiction to $\dot{I}(t_1 + d + h + T^*) \leq 0$. Therefore, we have that $I(t) \geq v_2$ for $t \in [t_1, t_2]$. Since this kind of interval $[t_1, t_2]$ is chosen in an arbitrary way, we conclude that $I(t) \geq v_2$ for all large t in the case (ii). Hence, it has that

$$\liminf_{t \rightarrow +\infty} I(t) \geq v_2.$$

The proof of Lemma 2.3 is completed. \square

Theorem 2.4. *If $S_0 > S^*$, then, (1.1) is permanent for any time delay h .*

Proof. Lemma 2.1 shows that the solution $(S(t), I(t), R(t))$ of (1.1) is uniformly ultimately bounded. Lemmas 2.2–2.3 show that $S(t)$ and $I(t)$ are ultimately strictly positive with some positive constants. Furthermore, it follows from the third equation of (1.1) and Lemma 2.3 that $\liminf_{t \rightarrow +\infty} R(t) \geq (\lambda v_2)/\mu_3$. Hence, (1.1) is permanent. This proves Theorem 2.4. \square

Acknowledgements

The authors would like to thank the referees for their helpful comments and suggestions. The research of this article is partially supported by the Foundation of University of Science and Technology Beijing and the National Natural Science Foundation of China (No. 10671011) for the second author and by the Ministry, Science and Culture in Japan, under Grand-in-Aid for Scientific Research (A) 13304006 for the third author.

References

- [1] E. Beretta, V. Capasso, F. Rinaldi, Global stability results for a generalized Lotka–Volterra system with distributed delays: applications to predator–prey and epidemic systems, *J. Math. Biol.* 26 (1988) 661–668.
- [2] E. Beretta, Y. Takeuchi, Convergence results in *SIR* epidemic model with varying population sizes, *Nonlinear Anal.* 28 (1997) 1909–1921.
- [3] G. Butler, H.I. Freedman, P. Waltman, Uniformly persistent systems, *Proc. Amer. Math. Soc.* 96 (1986) 425–430.
- [4] H.I. Freedman, S. Ruan, Uniform persistence in functional differential equations, *J. Differential Equations* 115 (1995) 173–192.
- [5] J.K. Hale, *Theory of Functional Differential Equations*, Springer, New York, 1977.
- [6] J.K. Hale, P. Waltman, Persistence in infinite-dimensional systems, *SIAM J. Math. Anal.* 20 (1989) 388–395.
- [7] H.W. Hethcote, Qualitative analyses of communicable disease models, *Math. Biosci.* 7 (1976) 335–356.
- [8] Y. Kuang, *Delay Differential Equations with Applications in Population Dynamics*, Academic Press, San Diego, 1993.
- [9] M.Y. Li, J.S. Muldowney, P. van den Driessche, Global stability of SEIRS epidemic model in epidemiology, *Canad. Appl. Math. Quart.* 7 (1999) 409–425.
- [10] M.Y. Li, H.L. Smith, L. Wang, Global dynamics of an SEIR epidemic model with vertical transmission, *SIAM J. Appl. Math.* 62 (2001) 58–69.
- [11] W. Ma, M. Song, Y. Takeuchi, Global stability of an *SIR* epidemic model with time delay, *Appl. Math. Lett.* 17 (2004) 1141–1145.
- [12] W. Ma, Y. Takeuchi, T. Hara, E. Beretta, Permanence of an *SIR* epidemic model with distributed time delays, *Tohoku Math. J.* 54 (2002) 581–591.
- [13] M. Song, W. Ma, Asymptotic properties of a revised *SIR* epidemic model with density dependent birth rate and time delay, *Dynamic of Continuous, Discrete and Impulsive Systems* 13 (2006) 199–208.
- [14] H.R. Thieme, *Mathematics in Population Biology*, Princeton University Press, Princeton, NJ, 2003.
- [15] W. Wang, Global behavior of an SEIRS epidemic model with time delay, *Appl. Math. Lett.* 15 (2002) 423–428.